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Number Series Questions for SBI PO Pre, IBPS PO Pre, SBI Clerk 
Mains and IBPS Clerk Mains Exams. 
 
No Series Quiz 66 
 

Directions : What will come in place of question mark (?) in the following series? 
 

1. 132     156     182     210       240       ?   

A. 272   B. 284   C. 296   D. 302   E. None of these 

 
2. 186     210     258     282       ?       354 

A. 318   B. 330   C. 326   D. 352   E. None of these 

 

3. 11     53     93     129       159       ? 

A. 162   B. 174   C. 181   D. 206   E. None of these 

 

4. 12     6     15     67.5       ?       3729.375 

A. 583.75  B. 589.75  C. 498.75  D. 438.75  E. 555.75 

 

5.  383     394     407     414       419       ? 

A. 429   B. 446   C. 452   D. 438   E. None of these 
 

6.  3     9     33     129       513       ? 

A. 2052  B. 1951  C. 2049  D. 1849  E. 1026 
 

7.  2299     2203     2109     2017       ?       1839 

A. 1935  B. 1927  C. 1946  D. 1953  E. None of these 
 

8.  98     49.5     50.5     77.25       156.5       ? 

A. 389.5  B. 381.5  C. 393.75  D. 377.5  E. None of these 
 

9.  508     53     212     29       60       ? 

A. 15   B. 19   C. 23   D. 13   E. None of these 
 

10.  54     225     576     729       ?       9 

A. 321   B. 317   C. 303   D. 288   E. None of these 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

A B C D A C B C D D 
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Explanations: 
 
1.    

Series Pattern  Given Series   
11 × 12 = 132 132   
12 × 13 = 156 156   
13 × 14 = 182 182   
14 × 15 = 210 240   

15 × 16 = 240 240   

16 × 17 = 272 272 ✓ 

 
Hence, option (A) is correct. 

 
 

2.  
Series Pattern  Given Series   

186 186   
186 + 24 = 210 210   
210 + 48 = 258 258   
258 + 24 = 282 282   

282 + 48 = 330 330 ✓ 

330 + 24 = 354 354   

 
Hence, option (B) is correct. 

 

 

3.  

Series Pattern  Given Series   
11 11   

11 + 42 = 53 53   
53 + 40 = 93 93   

93 + 36 = 129 129   

129 + 30 = 159 159   

159 + 22 = 181 181 ✓ 

 
Hence, option (C) is correct. 
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4.    
Series Pattern  Given Series   

12 12   
12 × 0.5 = 6 6   
6 × 2.5 = 15 15   

15 × 4.5 = 67.5 67.5   

67.5 × 6.5 = 573.75 438.75 ✓ 

438.75 × 8.5 = 6024.375 3729.375   

 
Hence, option (D) is correct. 

 
 

5.  
Series Pattern  Given Series   

383 383   
383 + (8 + 3) = 394 394   
394 + (9 + 4) = 407 407   
407 + (0 + 7) = 414 414   

414 + (1 + 4) = 419 419   

419 + (1 + 9) = 429 429 ✓ 

 
Hence, option (A) is correct. 

 
 

6.  

Series Pattern  Given Series   
3 3   

3 × 4 – 3 = 9 9   
9 × 4 – 3 = 33 33   

33 × 4 – 3 = 129 129   

129 × 4 – 3 = 513 513   

513 × 4 – 3 = 2049 2049 ✓ 

 
Hence, option (C) is correct. 
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7.  
Series Pattern  Given Series   
(48)2 – 5 = 2299 2299   
(47)2 – 6 = 2203 2203   
(46)2 – 7 = 2109 2109   
(45)2 – 8 = 2017 2017   

(44)2 – 9 = 1927 1927 ✓ 

(43)2 – 10 = 1839 1839   

 
Hence, option (B) is correct. 
 
 

8.  
Series Pattern  Given Series   

98 98   
98 × 0.5 + 0.5 = 49.5 49.5   
49.5 × 1 + 1 = 50.5 50.5   

50.5 × 1.5 + 1.5 = 77.25 77.25   

77.25 × 2 + 2 = 156.5 156.5   

156.5 × 2.5 + 2.5 = 393.75 393.75 ✓ 

 
Hence, option (C) is correct. 

 
 

9.  

Series Pattern  Given Series   
(83 + 1) – 5 = 508 508   
(72 – 2) + 6 = 53 53   

(63 + 3) – 7 = 212 212   
(52 – 4) + 8 = 29 29   

(43 + 5) – 9 = 60 60   

(32 – 6) + 10 = 13 13 ✓ 

 
Hence, option (D) is correct. 
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10.  

Series Pattern  Given Series   
9 × 61 = 54 54   

9 × 52 = 225 225   
9 × 43 = 576 576   
9 × 34 = 729 729   

9 × 25 = 288 288 ✓ 

9 × 16 = 9 9   

 

Hence, option (D) is correct. 
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